HIWIN.

SINGLE-AXIS ROBOT
AR ER A
KC B-TYPE




Emie /

® BHRE | HAERSTIERFIRINE
o RE[EF : BT HRY EBNE - 817 - ERIFHRERECAHET)
® FSI%AE | BRAESIRF 10%~30%(5E2)

1 EESMER ~ S100kmiETRE B 0 SERBERREIBERE

AW MEEREIR -

52 | EEEERE AT LIRS ZKC A-TYPE » {RAREIFEIE « BfEAESIB-TYPERFAAI10~30% ©

2T
EREREMEN _»

SMERZRELFL
BREEREATRE

BRAEE /

PCBRE:R

EmiR /

EERG A
~ AP EBRE  B7

CFERERE  MRBEH - IERE - SEiEE-

fRE S KA
RS2

FEBCEXER -

KC 050 - 10 C E-500 B E FO E S2

KC &35! BHITIE

Fafs
A-TYPE
B-TYPE

E BRI T
HICE | BREEHRINT

C : —PRAR(EIRFERE:+0.01mm)
P . tERAR(EIRTEE:+0.005mm)

2R giE
KC040 : 02mm ~ 05mm ~ 10mm
KC050 : 05mm ~ 10mm ~ 20mm

1R FERE

S1 . OMRON SX671

S2 : OMRON SX674

S3 : Panasonic GX-F12A
S4 : Panasonic GX-F12A-P
SE : EFiEE

P = . f=
EE T A

E AR HINT
OO L ABMEERIN T

R

Fo : H#3l
FR : HiE
FL : £

& KC080 : 05mm ~ 10mm ~ 20mm Eiqzé'\ﬁ%bil
040 oot - FAESERMT
050

080



Load (kg)

Load (kg)

Load (kg)

KC040 B-TYPE KC050 B-TYPE KC080 B-TYPE
BEhE 100W 100W 400W
Bi2(mm) 2 5 10 5 10 20 5 10 20
BAMRIEE(mm/s)(3E1) 100 250 500 250 500 1000 250 500 1000
= KFFER 25 20 15 30 15 10 50 30 20
RAAIREE (kg)
s¥2
(&2) EHER 8 8 5 10 5 3 15 8 3
BEARIME (mm) 10 12 15
EIREE(mm) 0.01/£0.005
BRITIE(mm) 50~800 50~800 50~1100
MP 79 103 650
e tm
BEEFNE MR 116 159 770
(N-m)
MY 79 103 650
. 1 BRATIZAH550~750mmBF ] AEEF AL 4R » [TIREIEIN100mmBEs » RAREFEFEE15% ©
B N = < N N
H2: BRATRESABREORBEBERZERTER
efmEsElRE /
® KCO040 B-TYPE
Horizontal (KC40 B-TYPE) Side Mounting (KC40 B-TYPE) Vertical (KC40 B-TYPE)
30.00
s0.00 2500 10.00
25.00 Lead:2mm B Lot 200 e | ead:2mm
20.00 (@100mm/s,0.36) 20,00 cadamm . (@100mm/s,0.36)
15.00 £ 1500 (@100mm/s,0.36) 2 600
1000 —— Lead:5mm s Lo E 4.00 ~ Lead:5mm
: (@250mm/s,0.36) S 1000 ead:5mm 200 (@250mm/s,0.36)
5.00 (@250mm/s,0.36)
500 0.00 ——Lead:10mm
0.00 e |_ead:10mm 10 ©C o 90909000 ooo
°8938888888 (@500mm/s,0.36) 000 L L L L o o n o T leadiomm 8832888888 (@500mm/s,0.36)
ﬁﬁﬁﬁﬁ fSYeeEessrIzER (@500mm/s,0.3G) Center of Gravity(mm)
Center of Gravity (mm) Center of Gravity(mm)
® KCO050 B-TYPE
Horizontal (KC50 B-TYPE) Side Mounting (KC50 B-TYPE) Vertical (KC50 B-TYPE)
2
40 12
20 0
30 = Lead:5mm _ 15 = Lead:5mm = 8 e Lead:5mm
2 (@250mm/s,0.36) 2 (@250mm/s,0.36) =, (@250mm/s,0.36)
. ——Lead:10mm § 0 — Lead:10mm I ——Lead:10mm
@500mm/s,0.36) 5 @500mm/s,0.36) 2 @500mm/s,0.36)
0 coooooocooooooo Lead:20mm 0 e |ead:20mm 0 | ead:20mm
RI2888338888%8 coccgogoggsgog
Tetesses Seads (@1000mmy/s,0.56) SRSISISEIISS]II @1000mm/s,0.36) NYTeSNI22RNSS (@1000mm/s,0.36)
Center of Gravity (mm) Center of Gravity(mm) Center of Gravity(mm)
® KC080 B-TYPE
Horizontal (KC80 B-TYPE) Side Mounting (KC80 B-TYPE) Vertical (KC80 B-TYPE)
60.00 20.00
e Lead:5mm 60.00 Leads
40.00 (@250mm/s,0.36) _ T hesdemm _ 1500 ——Lead:5mm
B 40.00 (@250mm/s,0.36) E (@250mm/s,0.36)
20.00 = Lead:10mm - Lead 10 < 10.00
© L ead:1Umm o —
i (@500mm/s,0.36) 2 2000 5 ~— Lead:10mm
(@500mm/s,0.36) 5.00 (@500mm/s,0.36)
0.00 e |_ead:20mm
©c oo o o o 9 0.00 ——Lead:20mm 0.00 o Lead:20mm
S &8 §% 8 8 (@1000mm/s,0.36) c 222258 g .

Center of Gravity (mm)

= 3 8 3 (@1000mm/s,0.3G)

Center of Gravity (mm)

360

(@1000mm/s,0.3G)
Center of Gravity (mm)



R IE /

.....

LR/EBBRTE 0 R SE TREMETIRE

7~ ERET RS0 HER

24

SRR R DI/ NERUE R E A B

A& RS A EE(mm) BERNEIN)
KC040 B-TYPE-FRIL) 192-2GT-9 52 11~15
KC050 B-TYPE-FR(L) 204-2GT-9 58 1~16
KC080 B-TYPE-FRIL) 315-5GT-15 77.5 30~44
1 BETEE > BEBMNERRIEARIE -
52 RAAEE  TUBHEZRRAME  LUBR OB E S « BER
33 BRERR > BENLERRIEITRIMES  BE - WHNERE3EAH100kmEITR MR ~ 5% o
BEEE—BK /
HIWIN Mitsubishi Panasonic Yaskawa Delta Inovance Simotics
AR EE Gl 83 AR EE AR && AR & AR EE RAR &
KC040 B-TYPE Fo F1 FO F1 F1 F1 F1

(50W/100W)

KC050 B-TYPE
(50W/100W)

KC050 B-TYPE
(200W)

KC080 B-TYPE
(50W/100W)

KC080 B-TYPE
(200W/400W)

KC080 B-TYPE
(750W)

(M3x0.5P, PCD45)

FO
(M3x0.5P, PCD45)

F2
(M5x0.8P, PCD70)

F5
(M3x0.5P, PCD45)

FO
[M5x0.8P, PCD70)

F3
[Méx1P, PCD90)

[M4x0.7P, PCD46)

F1
[M4x0.7P, PCD46)

F2
(M5x0.8P, PCD70)

Fa
[M4x0.7P, PCD46)

FO
(M5x0.8P, PCD70)

F3
(Mé6x1P, PCD90)

(M3x0.5P, PCD45)

FO
(M3x0.5P, PCD45)

F3
(M4x0.7P, PCD70)

E5
(M3x0.5P, PCD45)

F1
[M4x0.7P, PCD70)

F2
(M5x0.8P, PCD90)

1R EMEEZ M o TR HREFLR T EPCDEEEEER o

(M4x0.7P, PCD46)

F1
(M4x0.7P, PCD46é)

F2
(M5x0.8P, PCD70)

Fé
(M4x0.7P, PCD46)

FO
(M5x0.8P, PCD70)

F3
(Méx1P, PCD90)

(M4x0.7P, PCD46)

F1
[M4x0.7P, PCD46)

F2
(M5x0.8P, PCD70)

Fa
[M4x0.7P, PCD46)

FO
[M5x0.8P, PCD70)

F3
(M6x1P, PCD90)

52 LS FLI9 845k A HIEHTL
3 BAERECRREEERS  EAERERANBMBELERERLEREX -
54 BIEHER > FHYEIEROENREREEE -

(M4x0.7P, PCD46)

F1
(M4x0.7P, PCD46)

F2
(M5x0.8P, PCD70)

Fé4
(M4x0.7P, PCD46)

FO
(M5x0.8P, PCD70)

F3
[Méx1P, PCD90)

[M4x0.7P, PCD46)

F1
[M4x0.7P, PCD46)

F2
(M5x0.8P, PCD70)

Fa
(M4x0.7P, PCD46)

FO
(M5x0.8P, PCD70)

F3
(Mé6x1P, PCD90)

HEERGEEREN /

® KC040 B-TYPE

EBERE FO EEEIE AR
A—Maxn.szxg EZE ©3) 10 4-M4x0.7Px10 DP §
.C.D. ] P.C.D. 46
43l 4-M3x0.5Px10 DP = 12 31 35 235 &
> P.C.D. 45 235 & =
12 31 E < % =
Yoo @l I & 3ls .
: 2l N 7 S Sig - == g
=t r1ig® EEN AN
S o "o X ) =
o~
Sl
@W €g° e
450 [ff




® KC050 B-TYPE

BEE FO
4-M3x0.5Px10 DP 60 -
(47.5) P.C.D. 40 2771 3
13 345 4-M3x0.5Px10 DP X
35 P.C.D.45 3
s
o~ —
i R SRR S
; SEE RN R A
) 4 ¢
1S
2 o
g e 138
450 15
EiEEEARF2
(47.5) 12 4-M5x0.8Px12 DP
13 35 35 P.C.D.70
: F:_ m: o ® D\&
3 I | oo| o So — (AR
e g )
E L____ LI s 5
= -

® KC080B-TYPE

BERE FO
4-M4x0.7Px8 DP 78
P.C.D. 60 o
(49) 4-M5x0.8Px10 DP 15) 2
12_33 P.C.D.70 375 | &
.5 \ S
Ha B X
| . T ()
1] 2| I o = Fan S
P e == I\ =
o L——
o o~—"% &
[
= o
a 300 |
4¢50 L\C‘)o
FREEIZ A2
2[453]3 . 4-M5x0.8Px12 DP (41.5)
1 3.5 -Mb5x0.8Px 375
P.C.D.90 iy
){ ¥| 8
® 1/ <
8 ™~
L i [ = = éa A
sEIBEELINY
@ ®
I - >
= —
: & | s
S 80
EiEERAHFL
(45) _8 4-Méx0.7Px8 DP
1233 P.C.D. 46
™)
ol | 9 - =
EES 9
e sn = SERIe S
S| X X \ &
o L
— ©
= e )
o129
5 8 \4 )
= 3

BiEEROARIF
g
(47.5) 7 4-M4x0.7Px7 DP 60__ 7
13 _34.5 35 P.CD.46 27.7 S
3 [ [ O
) Q1S I3 (@) =
3 S &/ 3
3 L - rex| ]
o> =]
- Sol °
3 :9; 450 1D
ST
BiEEROARF3
(47.5) _12 4-M4x0.7Px12 DP
13 345 3.5 P.C.D. 70
i ol r_l i \
! i = I2: N
EamiinsERER N2
_ = |-—| s ©
i o
60
BiEEROARFT
78
(45) __10 (41.5)
12 33 4-M4x0.7Px10 DP 375
3.5 P.C.D.70
S
o
= - &
So =< IS
F13%y 88 s
| S
[t
~
e
=i
S
BEERHERF3
(45) 12 (41.5)
12,33 35 _4-M6x1Px12 DP 375
P.C.D.90 1=
» — -
= e 2 S
e j +
0 5 NN ER
~O| oo —_] = =
2B TR =
L—_——’l = -
=
= A —
e g5 oy
1S .y
80
FREERARMFS
78
(41.5)
(45) _8 4-M3x0.5Px8 DP 37.5
1233 P.C.D. 45
3
o]
m BN PN =S S
| S0 2Of X
ey
_g =
Slod
EE
— o
sl &
S




2-@3H7x4.5 DP
4-M4x0.7Px9.5 DP 40

ele]l

@7h7

4b

53

0012
2

36

VIEW A
(54) 4-M3x0.5Px10 DP
43) P.C.D.45
4-M3x0.5Px10 DP
2, P.C.D. 40
o,
¥/ o L3
& '2/{')
=
SN2 E
21.7+0.03
(43.4)

1 ﬁﬁé

9 = v DETAILF 22 <
P / 100+0.02 / DETAIL E
N-M4x0.7Px10 DP,@3.4 THRU / 2-@4HTx4 DP
BE:mm
%17 50 100 150 @ 200 250 300 = 350 400 | 450 550 600 650 700 750 800
L 264 314 364 414 4ok 514 564 664 764 814 864 914 964 1014
M 1 1 2 2 3 3 4 5 6 6 7 7 8 8
N 6 6 8 8 10 10 12 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 425 525 575 625 675 725 775
A 25 75 25 75 25 75 25 25 25 75 25 75 25 75
EiElkg) 13 142 154 | 166 178 1.9 202 | 214 | 226 2.5 262 | 274 286 | 298 3.1
4-M3x0.5Px8 DP
3JS9
w/:\(
-2 o - H/m - al B
® ©) 9 rJ &)
QQ:
@217:0.03
Z (43.4)
&
(110) & VIEW A
L ol 01 ——h
L o (92)
40 A Mx100 35
100
Fia n 3.7
§D 1.2
3 " - - - - ¥ 4
- =S ac
g L*J f N
P / 100:0.02 / ‘ka 22 JI
N-M4x0.7Px10 DP, 83.4 THRU / 2-@4H7x4 P | DETAILF DETAIL E
BE:mm
BMITIE 50 100 150 200 250 300 350 400 450 550 600 650 700 750 800
L 246 296 346 396 446 496 546 646 746 796 846 896 946 996
M 1 1 2 2 3 4 5 6 6 7 7 8 8
N 6 6 8 8 10 10 12 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 425 525 575 625 675 725 775
A 25 75 25 75 25 75 25 25 25 75 25 75 25 75
BE2(kg) | 134 1.46 1.58 1.7 1.82 1.94 2.06 2.18 2.3 2.54 2.66 2.78 2.9 3.02 3.14




2-@3H7x4.5 DP

4-M4x0.7Px9.5

DP

40

@) : @)
P T o T -
[clz=[0] —
70 BHITE 70
|
(110
S ey M— Ion!
A = = = - 3 [ 3
1
L ©
1 Mx100 25 q
100
)}
=
3 ® - - —+
= L*J
P / 100+0.02 / 25 [11]_35
N-M4x0.7Px10 DP,@3.4 THRU / 2-BhHTxk DP/

%17 50 100 150 200 @ 250 300 350 400 | 450
L 246 296 346 396 bbb 496 546 596 646
M 1 1 2 2 3 3 4 4 5
N 6 6 8 8 10 10 12 12 14
P 25 75 125 175 225 275 325 375 425
A 25 75 25 75 25 75 25 75 25

E2(kg) 134 146 158 1.7 182 | 1.94 206 @ 218 2.3

4-M3x0.5Px8 DP
P.C.D. 45

3\
of r \\‘.,/\
277i003 Li7 o) 7
wa | S R
A
VIEW A ’%é
—
(92)
.37
§D 112
e
| 22) g
DETAIL F DETAIL E
500 550 600 650
696 746 796 846
5 6 b 7
14 16 16 18
475 525 575 625
75 25 75 25
2.42 2.54 2.66 2.78

700
896

18
675
75
2.9

750
946

20
725
25
3.02

BE:mm
800
996

20
775
75




(47.5)

2-@3H7x6 DP. 13 _ 345
4-M5x0.8Px11 DP. ‘ 52 ‘ 35
‘ o & o
HE T S S 8 o
> | EleFleE
| 70.5 § 4-M3x0.5Px10 DP (64)
(116) P.C.D. 45 (54) 4-M3x0.5Px10 DP
) 3 P.C.D. 40
_ o fexxn) 9 / %
1 L S N E
B 3| .|| . o RAFE .
; { 3 e [N\ etoole
7 | 5 ¢ SEEN
/ L N 26.7:0.03
< (53.4)
10 AU/ A Mx100 25 _13 57.5
[ | :
a n £
i @ K K )
e ——— —
I L*J £ / L'
/ / P / 100+0.02 25 DETAIL F DETAILE
N-M5k0.8Px13 DP,@4.4 THRU 2-05H7x6 DP/ oo /L
BE:mm
BMITE 50 100 150 200 @ 250 300 350 400 450 500 550 600 650 = 700 750 | 800
L 2705 = 3205 @ 3705 4205 4705 5205 5705 = 6205 6705 7205 @ 7705 8205 8705 9205  970.5 | 1020.5
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 375 425 475 525 575 625 675 725 775
A 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75
BiElkg) 12 1.4 1.6 1.8 2 2.2 2.4 2.6 2.8 3 3.2 3.4 3.6 38 4 4.2
3Js9
2-3H7x6 DP - 64)
4-M5x0.8Px11 DP 52 %\ (54)
&/
et % N i
A T " N Q Q §
m©%©m X )fzz,.ho.oa . °
T | 705 05 | (53.4)
P.C.D.45 VIEW A
(116)
£ = |
L 9 106.5)
1 40 A Mx100 25 13 37
| | 100 s
fia) n 3o
53 9 id id 0
2 77—':@—7—7—7—7—7—7—7—6r7 —t
&
T / U 12
P 100+0.02 25 DETAIL F DETAIL E
N-M5x0.8Px13 DP,@4.4 THRU / 2-@5H7x6 DP.
BE:mm
BMITIE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 375 425 475 525 575 625 675 725 775
A 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75
B2(kg) 16 1.8 2 2.2 2.4 2.6 2.8 3 3.2 3.4 3.6 3.8 4 4.2 A 46




2-03H7x6 DP 6n 389 S
4-M5x0.8Px11 DP 52 R
(54) S
S
g /e
W, =3[ LeJ j_-ﬁ i x NS
i . - i1lva=
H B/ !
PL de | g Wb I,
- FeH e s 0 x4
BRiTE | 70.5 26.7+0.03 \—
(53.4) 4-M3x0.5Px6 DP
P.CD.45
VIEW A
(116)
el “se '~ MW [
. E ©]
e S 0 3
t 1 o o |
! |
!
L ) 1106.5)
1040 A Mx100 25
100 g
o
o ]
E-2
B
g &
&
T T DETAILF DETAILE
P 100:0.02 25 13|37

N-M5x0.8Px13 DP,@4.4 THRU / 2-P5H7x6 DP

B{I:mm

BXITEE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800

L 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 b 8 8 10 10 12 12 14 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 375 425 475 525 575 625 675 725 775
A 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75
Eilkg) 16 18 2 2.2 2.4 2.6 28 3 3.2 3.4 3.4 338 4 4.2 b bt
2-03H7x6 DP
4-M5x0.8Px11 DP 52 4281
9 14
E3Eesbles)
® ® =) lT' L&
—— -—— 11 S —1 8
@@?@@ IE@I%@E o 64)
- 8l (54)
89.5 BRITE | 70.5 33:0.1
8-M3x0.5Px8 DP 26+0.1

E
|
i
i
i
i
i
i
i

0.5

=]
%
0012
\
/

|

?

|

|

|

|

\T 4

|

|

i
ot

T T 2

100:0.02 25 DETAIL F DETAILE

P
N-M5x0.8Px13 DP.04.4 THRU / 2-05H7x6 DP /

BAI:mm

BXITEE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800

L 236 286 336 386 436 486 536 586 636 686 736 786 836 886 936 986
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8

N 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 375 425 475 525 575 625 675 725 775
A 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75

BE(kg) 1 12 14 16 18 2 2.2 2.4 2.6 2.8 3 32 3.4 3.6 38 4




2-@5H7x8 DP.

75 _45)
4-Mbx1Px15 DP 3
® ® < 0 ® _

= -z gl |- -Hp
J

afah \Ele5e
96 BRI 94
135)
A
~ % — I
| |
181
L
N-Méx1Px15 DP,85.4 THRU 2-@5H7x8 DP
12 65 A \ Mx100 | 25 13 60
\ 100
= &
o
3 B
3 — N N
T n
4 R 3 RS & 2l B.6
P 100£0.02 25 DETAIL F DETAIL E

BE:mm

BEX4TE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100

L 325 | 375 425 475 | 525 575 | 625 675 725 775 825 875 | 925 975 1025 1075 1125 1175 1225 1275 1325 1375
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 " "
N 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26
P 50 100 | 150 200 | 250 | 300 350 400 450 500 550 600 650 700 | 750 800 | 850 | 900 950 1000 1050 1100
A 50 100 50 100 50 | 100 50 100 50 100 50 | 100 50 = 100 | 50 = 100 | 50 100 = 50 100 50 | 100

B=l(kg) 52 55 58 | 6.1 6.4 | 6.7 7 73 76 79 82 85 88 | 9.1 9.4 | 9.7 10 103 106 109 11.2 115

4-M5x0.8Px6 DP

2-B5H7x8 DP P.C.D. 70
75 5159
4-M6x1Px15 DP
& o
ge3g Orag v 22
- — e~ — -~ ——— ——————— — g |- o
& |
o3 T \[Fle[Sle &
Y,
S
‘ 96 BiTiE 9% &
(135
A |
— —— -—T g o )
= =
| |
i
L 2 (148.5)
N-Mé6x1Px15 DP,85.4 THRU 2-B5H7x8 DP
12 65 A Mx100 25 1345
\ 100
i % Bl pa
F i ol o
: - 1 i L)
_
& 4 & R o 3.4
P 100£0.02 [25 DETAIL F DETAIL E
el B{:mm

BT 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100

=\

310 360 410 460 510 560 @ 610 660 710 760 810 860 910 960 1010 1060 1110 1160 1210 1260 1310 1360
9 10 10 1" "
6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26

v zZz X r
N
N
w
w
~
~
ol
(6]
o~
o~
~
~
o
[ee]
~0

50 100 | 150 200 | 250 | 300 350 400 450 500 550 600 650 700 | 750 800 850 | 900 950 1000 1050 1100
A 50 100 = 50 100 50 | 100 50 100 50 | 100 50 | 100 50 100 | 50 100 | 50 100 = 50 100 50 | 100
BExlkg) 56 59 62 65 68 7.1 7.4 7.7 8 83 86 89 92 95 98 101 104 107 11 113 116 119




2-@5H7x8 DP

4-Méx1Px15 DP

k. Ele

BT

94

135

4-M5x0.8Px6 DP

P.C.D.70
. 5JS9

i

Do

AL

VIEW A

—F — 13 2 2
[ i B
15 |
L w)
N-Méx1Px15 DP,@5.4 THRU 2-&H7x8 DP T
12 65 A x100 25
\l \ 100
s T £ id E3
oo F - -
+ + Py Py
P \0010.02 25 (1345
B{I:mm
BHX1T¥E 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100
L 310 360 @ 410 460 @ 510 560 610 660 | 710 760 810 860 | 910 @ 960 1010 1060 1110 1160 1210 1260 1310 1360
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 11 11
N [ 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26
P 50 100 | 150 200 @ 250 300 | 350 @ 400 450 @ 500 | 550 @ 600 650 700 750 @ 800 850 900 & 950 | 1000 1050 1100
A 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100
g%[kg] 5.6 5.9 6.2 6.5 6.8 7.1 7.4 7.7 8 8.3 8.6 8.9 9.2 9.5 9.8 | 10.1  10.4  10.7 11 1.3 1 11.6  11.9
2-(@5H7x8 DP.
4-M6x1Px15 DP 75 21
R 1513
@ | & r:3 ® ®
— N2 :§
o\(3] = NEleFle %
9% HRITIE % sl 87)
182) 4-M4x0.7Px8 DP
(135) (I P03
| |
L
2-@5H7x8 DP
12 65 A Mx100 25 13 3
“ \ 100 . 08
2 <7 % + % []7/ . I
3 fo— — e - Asl g e
J!" T =
- 4 < rs 2/ B.6|
DETAILF DETAILE
P 100+0.02 25
BE{iI:mm
BHX1THE 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100
L 292 | 342 392 | 442 | 492 | 542 592 | 642 | 692  T42 792 | 842 | 892 | 942 992 1042 1092 1142 1192 1242 1292 1342
M 1 1 2 2 3 3 4 4 5 5 [} 6 7 7 8 8 9 9 10 10 11 11
N [ 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24 26 26
P 50 100 | 150 200 @250 @ 300 | 350 @ 400 450 @ 500 | 550 @ 600 650 700 750 @ 800 850 900 = 950 | 1000 1050 1100
A 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100
i%[kg] 4.9 5.2 5.5 5.8 6.1 6.4 6.7 7 7.3 7.6 7.9 8.2 8.5 8.8 9.1 9.4 9.7 10 10.3 1 10.6 10.9 11.2

"



EXHEBRBER

EE ST
HIWIN GmbH
OFFENBURG, GERMANY
www.hiwin.de
www.hiwin.eu

BA #F - BhE SRR R
REF - w90 - JLfE - S -
8 - REK

HIWIN JAPAN

KOBE * NAGOYA « TOKYO « TOHOKU «

NAGANO ¢« SHIZUOKA « HOKURIKU «

HIROSHIMA « FUKUOKA « KUMAMOTO, JAPAN

www.hiwin.co.jp

ZEE Zms
HIWIN USA
CHICAGO, U.S.A.
www.hiwin.us

EAF KW

HIWIN Srl
BRUGHERIO, ITALY
www.hiwin.it

It B

HIWIN Schweiz GmbH
JONA, SWITZERLAND
www.hiwin.ch

HIWIN s.r.o.

BRNO, CZECH REPUBLIC
www.hiwin.cz

TEE SEAFRIERER
HIWIN FRANCE
STRASBOURG, FRANCE
www.hiwin.fr

FIn

HIWIN SINGAPORE
SINGAPORE
www.hiwin.sg

BE KR BR

HIWIN KOREA
SUWON « CHANGWON, KOREA
www.hiwin.kr

FRED &R

HIWIN CHINA
SUZHOU, CHINA
www.hiwin.cn

HU&s| EE
Mega-Fabs Motion
Systems, Ltd.

HAIFA, ISRAEL
www.mega-fabs.com

® HIWINZ ESREHREIEEMER © A7BERE RS ml L Eps -

HIWIN.

EFRMEBRBBRAT
HIWIN TECHNOLOGIES CORP.

408525 AT AR FE M A Bl (S A L BR 7558

Tel : (04)2359-4510
Fax: (04)2359-4420
www.hiwin.tw
www.hiwinsupport.com
business@hiwin.tw

o ARUBZPFREMRIE - RABRGARKRERBMEZR » SERASRMEBSMATRESHESEHIBER
o HIWINERBZFBEEHAIL © http://www.hiwin.tw/Products/Products_patents.aspx

o AR’ BHE EEMREIZEMRMEESR  HWINEFTEERBEHE - SEHOHIWINZ ZERHREHONESR
FEMRIBAERD AR T EHMRARAR O YR EMEEENRBIZT  £b - REBESEFEHRBZA -

AEEFMABHRIREEEE - BASTEA -
Copyright © HIWIN Technologies Corp.
©2023 FORM K10DC08-2301 (PRINTED IN TAIWAN])




